Hw #s

Mol NI 206= B.g

J\&Lh(’

et ————

Rl S
i RS
2 7 3
§ b. -\ ®x->ed 2-x R )
: . 1 v x> ; x20
s UM '(L#;ﬁ '\r" = l,)‘i‘ : {-oﬂ; x<o
| c. Dag - -0 x>00 ,,(3(7;‘-\)

L X3 &

x>0 -;(5(':?, -1)

J. DNE: -0

e. DNE " ®

¥

ok

fn 4B Ko

*
s ‘ [
LV LR S AL

(7] =

lipn % ry
& 'X:'_-OD -W:]‘N!; -2 "F;

. lim .. S
B AR Y CINITS S D)

Vien 3
v

R T XL 7 S Y

N
-4

= =l - \_;.‘,‘,«o

g ey
£owEol, 42 -
Xz =
o, =2 [+ ==
liwa ,Ju—‘h("
* ! 24 x2-00 2 -%3
¥ \
- o tiw AxeCarse)
- 3
\ 25+00 -
i x 2ot P
! ey e e { oL
| | BT o
() "";’JH"':_(‘
N e R LI
- § -0 X3 (-1
i
! Vi -2
|16, x>on A3-x L 3. . 0% sm*x <
= " &l \
§ tim iz_C’L_”‘_’l ____c: < _’—:‘;‘*"" < F:
= 1y \ s Z - - <
i v x3(-m %) TS S .. A S
N
P L, R INAR tim . T
I =T T R — L w00 x4y x200 xZ4\
B
i Sin"X
- n -
3 — [ 2] m by squeese | T o | 8
. . = PR i AL SRR
et
viwa -
- © @ " e nrysos Yt 43 +2x
. an2+)?
o, 4
L2179 (x-1) (m*4m) "L A — -
2 N 2
Gun ot +x P40 R ;e e
| T xmos w2 o) Txdeoe NPkt R
Gioa U™ rlind | o 3
T xvon (P-m)(x-1) B N TS T
G A"t L o e
T oo xtont ;”‘z*"‘ . = w0 ;Jz‘(‘ﬂ;)"q-‘?‘..
'
v, ——(——-—-——-J——’r“ 4r 5 45 lina ——}L—
: v :
) T mmee M (e hm e wope0o (%lafqrZ -2m
® o A>w




Luvveet s problems

© W ¥ (L Ll

X - 0
i . 2 T nx = =00
T - o0 ¢ x-»ot
| |'- (=] L]
m 2 ("""_ X = O
b, x=17 thx D
k
[}
| w2 . _

t
0", fx_‘;"‘m [lu(_‘Lf’x)— lv\(la—'x)l s B
" 24+ )
- [E°N . f ——
x>0 +ex b
2
. lim (h('x(u—
% 00 :x(“--',;)' = S— c
limm (n%‘
{ = "™ )
xse0 | e .
Ty )
=B ‘

At
5O. g2 -x"

Vevticeat ﬁs\om"

x4l xo
-x2(x%-1)% 0o

- () (x-1) ko

7 xa-t,000 ]

Hovigoutal M;sw\'

o
4 . (+%®
G AEZ limhn ——
= u':d:m"“ﬁ’ wA-00 4>~ %"
4t
v/ -2 z lim ’,‘_L_%‘—)
R G~ %2-00 M (-1t 702)

- lim M)

T w00 gt (ega)

% b
A s

p————

S CET B IO ET

300 - 300

a. o -10
_ _u4oco
B
=
b. [w,s0] . (4o, 3Fe)
200~ 40O
c‘. “o - (O
. . 20
3
This velee vepvtswks e
avevome  vare  of chanye
betwen [l","to-) ov Ak
slope  of the Seeant lint
befurs tn Anc ()oi.r\b~
20
. Hes.

Mes . TG Coun e ety mined  becauit

Ahe oguaph  sleges don ak £(30) . Howewver,

(60 omt mptoves Mg slope A &0 and
3 vet edtect by whed happwd ok 030,
The  dowinsv)  Slepe vedues e opgamt vt
of denye.

Can €)= u)-S=8

') = sroéc =4

33, BN = Jx
a=q
M2 R = sln X
.mn
T

—
Coection 28

a. IL
b. I
e. I
o I

2,



Dowrain : R

| 24. 2000 = -Sa 4Bex T4

5 uw

—

) 2 %‘tm“-'zofn’wm;&-li . B ;‘“ ) (/]

G- e 8m)
G- aa% )
I

"

B. n

| wA
| £ = wre "
,! o (23 CxtRI% BCxei) ) = (o 2 B ve)
i " w0 W
O el SRR i Skl
| T kYo n
lim ~Sm'1—'{0fxl«-$k1¥8rx+8l»t-"l+§'x2-xx -H A
: k=0 L\,'ﬂ N -
10X~ Sh’ + 84
R —foace S BT
= e I'N \
32. #> ™ r
liwn (~10% =5l re)h
= DT O R D)
o] = . M LlxAt) ~QOK
€10 = W0 125
Ui %
2 N o -Sh B T, G Y= (5 1)
Theo — o
z -0 X s i
l ¥ ; Domovn* @\J ) oun 61«4\1\-\*‘ _ c‘xf(_\
= o N
i C’“h*"‘ea__ﬂ
s © h¥vo w
- K (
6. %C76) =g w2 (coutoe oeenn Sone x_W x
xR = £ w| shovtewts:/ ) o ccce s
_ pe) —EEO :
Q' = 3 m " "
(B - 30xak)en) - (3 3xn2) .
= lwm S liwa ™ .—-——-e =
" hdo N P ko & € W
(2o ) -3x-3h42) -Gt e 3k R
. e < lim (eR-1
. e - e L = 7€ Lo N
e TP gy %uz- Z -3 d12 - E a2 ~12 R )
L Chme T = = ee ()
. 5 I B T T
. fim '—,;r;krf(kl—gh
h-1o sl - - S Te%e
. F — o
- lwmha 4+ =l -
oo HATHRT3 . l‘- e™ ’ by
D S
2 M
| | 3x3) = - !
= . 35, A 2 wE oo xR

£ 260 x "2

& pea
A ) 2t - sy g4 I s - =
S vy B +v3 ,“" 2 =\ ?
7
A ’ Reys -ty
$ey: a3 x8 - s %"+ sG‘)a'a +o+ b)Y - E e
%>

\‘6'3‘ 3 (=x-2) l ®



8. math sk be tengent lwe o X7 ok 2,
d .2 . 2
om " 227 (@) =«
2(2)
ke Musk inkevceeh (2,%)
A

W-4E 4(~-2)
ys Y (x-2D+ 4
YW= 4 -+ 4

Y= U % ;b= -4

e

SO.ap (&) = P R Y Y

a )z 2t —ax x2 2 W = et ) ©0. d(v)z (vi- 2 ) (v e v ) .
__”/—\'
| ) o + o 3 o
| Velocihuy © “x? - ba? ¥~ } - RS (y?-%g?&(_u'ﬁ* VD W AR R z§;\7 Cvj:zv)
gilpenssassminil T e ,
Becel: ol -~y 2 l o \ < Cv)'iu)(—qv-s— v 3) »«CV"\— «2) €N ‘2)
_’,,____—__——————'—_— . - = b — .
Fo N ’tiq_-_’éi
b, ald - ald+2 1S..Y* Zlae~3 o e :
=2 oy ($F-uk +33§’; (£3+43¢) - c«§+3e)£ Ce2-4ea3)

—

ot 2 _u )1
’2’;\_/—5;7 | _ , (+ C*3

(42 -uer3) (3¢243) - te3x36) (2t 71D ‘}
(e - Bl e L
(¢2-ut +3)? {

e

e i e

55. 4* 2003+ 302 - 2% | .
A 2 (.‘1\);
53"2-»» %~ 12 4| v (s

b

T
- (z‘—«tanﬂtsm‘aa\—(2g~ 2N () -
Whetn konopids is hevizonental " (a7 -4(2)*3)
. T eeps,
0% bx*sbx-12 : -\S
3
02 6(*x*+m-2) ye) s :)’____:_L(.'-l v -y (2 l-\\\\
o ) - 2t 4q(2) ¢}

2 b (A2 (x~1)

2(2) géz)'-.-u.@)q T 21 l Yz =15 (% _1\7 . ‘
a4 30y -2t 2 -6

.,‘._‘,,1.(,-2 P - . " .

————— S




w2e™
[ 3. e 0% B e
'; £ = leke”‘yl

(xae™Y(xe™ + ™ 200) - (x"e™)(2x x€™)

2
(x*+e™)

i ~
|30, ¥ = 50

C-x"'l)i_("‘)— "‘%(“2'()
()= —
£10x) (’K,z_‘)z

(x2-1) - x(2%)
| Sl = Aol sk
Cn-1)?

Y ’
T -?
RUTL okl .

(xz-10)"

Cx2s(1

ety B LG TR

e ey e B

o j A Ay C-x2- )3 z4) |
A o hn iR s

| #LL Pl 2. 9=
50. o, PY: F(2)G'(2) ¢ G2 P'(2)
2 0GE) « 2(0)
73]
. G(aA)FICH - e3)o' ()
b. @(FHY s — PYZIy s
1y
L@ -y
[}
sl e
s .14 3
l: 4 I
§ i ol (173 _

2%-%
\ 8 Lot n
W N
s -3 7 L1
1
W
A 5
= ddo 3
=
- [ "
“ U0
2 128
= A€ - 2 _33
L) 3
h
1% —d +2
-0 U> -3
_ N £)- 12 W2
e or dk3)




[
Ty : £()

. {(m«k)—‘('ﬁ)

()= ’—’T\_—

e 6

s 2Ae)-3 T Ax-3
W

e(ax-3) =6 (2o 42w - 3)
W (2 (xth)-3) (2 -3)

Qex =1 = Qo - 12k + 18
Wz (x+6) -3 (2x-3)

ERLEAN

W (2 (x4 -3) (2k-1)

-2
*(Z (e 3 (2033
y e T
(2x -3)(2%-3)

(’__——lz‘
( (ax-3)? 7

P o B i-
(3,26 ¢ Gy 5
£(3): 2
e e

b gy |

) (%) = J“/";&
S LIEE

L lima ] 1'“)-“0’)
%‘C’r)t R L————ﬁ

Ve AN-ULEHR) ~ NP :

S L
o 1=t uh = (1790
- ¢ w
e W (A Toalm + A
b (o Ux=UA -1 rUnc
R ""('J""(‘KO‘\) - dt-»m
fwm s
ke kCAJ (—4fxet) © J (-4qne
B =
h
x vk

N . S

= p——
ke Sy + Ae-m

-y
YN
; ”/% A e

w4
< r—
: 2/\!1—‘1'%

g o
Al-yc

-2, 3('233 : '\Jm =

win

5-2):3

e"x y dowm
/ when x=> -0




